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B.A. 3rd Semester (General) Examination, 2020 (CBCS)
Subject — Political Science
Paper CC-1C/ GE 3
[Indian Political Thought]

Time — 3 Hours Full Marks - 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
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Answer any six of the following questions: 5x6=30
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Write a short note on the main features of ancient Indian political thought.
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How did Kautilya attribute the role of ‘Amatya’ (the minister) as the second
important part of the state?
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Write a short note on Kautilya's concept of Swami.
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Explain briefly, why did Rammohan Ray welcome British rule in India.
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Estimate Bankim Chandra Chattopadhyay’s contribution as the pioneer of Indian
nationalism.
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Discuss briefly Gandhi’s concept of trusteeship.
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Which was more important to Rabindranath Tagore between ‘State’ and ‘Society’ and why?

AT A3 TS NS (FTAb FIGANRE P NP S Yof 932 (F?

State, briefly, how Ambedkar sought to annihilate the caste system in India.
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Answer any three of the following questions: 3X10= 30
ferfefare asfaa (@ @1 foafed Tea g |

PTO



a) Make a critical estimate of Kautilya’s ‘Dandaniti’.
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b) Do you think that medieval political thought was essentially religious? Give reasons
for your answer.
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c) Discuss critically Swami Vivekananda’s concept of nationalism.
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d) Critically discuss Rabindranath Tagore's ideas on nationalism.
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e) Write a critical note on Gandhi's concept of Satyagraha.
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